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Use the Pythagorean theorem to find the
length of the diagonal in the rectangle
below.
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‘Which is closest to the length of the
diagonal?
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A wire is attached from the top of a 10 m
pole to a spot on the ground 4 m away from
the base of the pole, as shown below.

10m Wire

4m

‘Which of the following is closest to the
length of the wire?




image4.png
o

o

11m
14m
20m
28 m




image5.png
Two square gardens are shown below. A
welcome banner extends from a corner
of Garden A to a corner of Garden B.

‘Which is closest to the length of the banner?
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